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P, = 0.0002P,* MW where P

iy  Calculate the generating cost per hour, if the maximum allowable power

is supplied by generator 2 f&?‘ wi@ﬁ@ the vest of the demand is supplied

(@} Calculate the generating

hared by both generators.

(itf) Calculate the genera ﬁﬁg cost _?”%?f&f hour it wo geﬂﬁmi@z‘g economically
3

Cfl‘

share the demand while coordin

nating the losses. Use the Lamda iterator
method and take 4= 8.0 as the initial estimate. Consider 1 MW of power
mismatch as the acceptable tolerance for convergence.

18 Marks]
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